
Appendix 1: PKPD formula 

𝑒𝐺𝐹𝑅 (𝑚𝑙/𝑚𝑖𝑛) =
(140 − 𝑎𝑔𝑒)(𝑤𝑒𝑖𝑔ℎ𝑡)

𝑠𝑟𝑐𝑟 × 72
× (0.85 𝑖𝑓 𝑓𝑒𝑚𝑎𝑙𝑒) 

 

𝑉𝑎𝑛𝑐𝑜𝑚𝑦𝑐𝑖𝑛 𝑐𝑙𝑒𝑎𝑟𝑎𝑛𝑐𝑒 (𝑙/ℎ) =  {(𝑒𝐺𝐹𝑅 × 0.689) +  3.66} ×  0.06 

 

𝑉𝑎𝑛𝑐𝑜𝑚𝑦𝑐𝑖𝑛 𝑑𝑜𝑠𝑒 =  𝑑𝑒𝑡𝑒𝑟𝑚𝑖𝑛𝑒𝑑 𝐴𝑈𝐶 ×  𝑣𝑎𝑛𝑐𝑜𝑚𝑦𝑐𝑖𝑛 𝑐𝑙𝑒𝑎𝑟𝑎𝑛𝑐𝑒 

 

Other PD parameters were calculated as below: 

𝐾 = ln
(

𝐶𝑝𝑒𝑎𝑘
𝐶𝑡𝑟𝑜𝑔ℎ

)

∆𝑇𝑖𝑛𝑡𝑒𝑟𝑣𝑎𝑙

 

𝑇1
2

=
0.693

𝐾
  

𝑐𝑜𝑟𝑟𝑒𝑐𝑡𝑒𝑑 𝐶𝑝 =
𝐶𝑝𝑒𝑎𝑘

𝑒−𝑘(𝑇𝑝𝑒𝑎𝑘−𝑇𝑖𝑛𝑓𝑢𝑠𝑖𝑜𝑛  )
  

𝑐𝑜𝑟𝑟𝑒𝑐𝑡𝑒𝑑 𝐶𝑡 = 𝐶𝑡𝑟𝑜𝑔ℎ × 𝑒−𝑘(𝑇𝑖𝑛𝑡𝑒𝑟𝑣𝑎𝑙 −𝑇𝑡𝑟𝑜𝑢𝑔ℎ) 

𝑉𝑑 =
(𝐷𝑜𝑠𝑒 × (1 − 𝑒−𝐾𝑇𝑖𝑛𝑓𝑢𝑠𝑖𝑜𝑛))

𝑇𝑖𝑛𝑓𝑢𝑠𝑖𝑜𝑛 × 𝐾[𝑐𝑜𝑟𝑟𝑒𝑐𝑡𝑒𝑑 𝐶𝑝 − (𝑐𝑜𝑟𝑟𝑒𝑐𝑡𝑒𝑑 𝐶𝑡 × 𝑒−𝐾𝑇𝑖𝑛𝑓𝑢𝑠𝑖𝑜𝑛)]
 

 

Based on available data, if a patient has a low drug clearance and the drug’s half-life drug is approximately 6 times 

the duration of infusion, a limited amount of drug will be eliminated during infusion. Therefore, it may be more 

practical to use the simpler bolus equation. So, the below formula can be used for AUC24hr calculation (9):  

𝐴𝑈𝐶𝑖𝑛𝑓𝑢𝑠𝑖𝑜𝑛 =
(𝑐𝑜𝑟𝑟𝑒𝑐𝑡𝑒𝑑 𝐶𝑝 + 𝑐𝑜𝑟𝑟𝑒𝑐𝑡𝑒𝑑  𝐶𝑡)

2
  × 𝑇𝑖𝑛𝑓𝑢𝑠𝑖𝑜𝑛 

𝐴𝑈𝐶𝑒𝑙𝑖𝑚𝑖𝑛𝑎𝑡𝑖𝑜𝑛 =
(𝑐𝑜𝑟𝑟𝑒𝑐𝑡𝑒𝑑  𝐶𝑝 − 𝑐𝑜𝑟𝑟𝑒𝑐𝑡𝑒𝑑 𝐶𝑡)

𝐾
 

𝐴𝑈𝐶24ℎ𝑟 =
𝑡𝑜𝑡𝑎𝑙 𝑑𝑎𝑖𝑙𝑦 𝑑𝑜𝑠𝑒𝑠 𝑜𝑓 𝑣𝑎𝑛𝑐𝑜𝑚𝑦𝑐𝑖𝑛

𝑣𝑎𝑛𝑐𝑜𝑚𝑦𝑐𝑖𝑛 𝑐𝑙𝑒𝑎𝑟𝑎𝑛𝑐𝑒
 

 

 

 

 

 

 



Appendix 2: Consort chart 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Included (N: 41) 

Intervention (n = 

11) 

Randomized (N: 20) 

Assess for eligibility (N: 982) 

Not eligible (941) 

Because of not receiving vancomycin, 

no AKI, CKD, RRT, or being pregnant 

 

Excluded patients (n=21) 

HD (n=3), vancomycin D.C (n= 4) 

Switch to linezolid (n=5) 

Dose change (n=7), Death (n=2) 

 

 

Control (n = 9) 


